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Show yowr work to get proper credit.

g(l)TS\Pts] Determine the value of n which guarantees a theoretical crror less than & = 0.001 when

estimating the following integral by Simpsou’s rule. For this problem ouly give the inequality that helps
yout fiud n (since you don’t have a c(Ll(ulatm)
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(2)[8 Pts]Deterniine the value of n which guarantees a theoretical error less than ¢ = 0.001 when

estimating the following integral by the trapezoidal rule. For this problem ouly give the inequality that helps
vou find n (since you don’t have a calculator).

e o /o > 1
Moa T00= 6o foo= L Flo= - 9{#@4%; Hw\\ ;
73 xé[g(ql]
2 3
> 2T (€35 (PO
[Enl ) 2= —ﬁ}z = 2hr 4 (%0
CDE] oy 007 o
~1 (o8

(B)P\Pts ] Identify the curve and write the equation in T rectamigilar coordinates:
r="7(1-cosf)™?
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